~ Quiz 4, Calculus IH - 7%

Fall 2012
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1. (5 points) Using any method from sections 13.9 or 13. 10 ﬁnd three positive numbers z, y
and z such that their sum is 4 and the expression z + y? + 2% is a minimum.

xqu{,.z,__,t( i DC,F—L/ FZ —*F(Jg\_[% - m‘v'mm:/
X#y% _ﬂ%?ﬂ(ﬁfz—“%v%@f-z @,
£ = ~| £32%

""“’27 2
| v
9[ 44 af—; 4
A S /Lcr ey / ); 7[) ['/772:_0
| | "”75{ >O ; 7[‘\7 = b7 (@’

/ . )[ m}, W""

wn O

dO.T e



2. (5 points) Sketch the region of integra’tioﬁ. Then evaluate the iterated integral, switching the
order of integration if necessary.
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